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| Semester B.Com. Examination, November/December 2015

(Semester Scheme) (Repeaters) (Prior to 2012-13)
COMMERCE

Business Economics — |
100 — 2011-12 Only
90 — Prior to 2011-12

Time : 3 Hours Max. Marks : 90/100

Instructions : 1) Answer should be written completely either in English or

in Kannada only.
2) Section — D is compulsory for 100 marks.
3) Section — A, B, C for the students of 90 marks.
4) Section —A, B, C, D for the students of 100 marks.

SECTION —A

Answer any ten of the following. Each sub-question carries 2 marks. (10x2=20)
CIRTTHTTR BB BN UZ0R. B3 YOI TINEN 2 0BT,

1. a) What is Business Economics ?
= BTOT BHF TR, DOTTERO 7

b) What do you mean by Decision Making 7
SeWRE T FRRTYNT HoTTe) 7

c) Define Consumer Surplus.
3T IREN0D BT SR TR,

d) What is meant by Marginal Utility
20337908 BO&TIOED DOTITETD 7

e) What is cross elasticity of demand
3eREOD BB ASTVTT, DOTTEI?

f) Why does the demand curve slopes downward ?
230RB0T Bea3030 RPTNDTIATLD TOTEITICRD 7

g) State any two methods of Demand Forecasting.
23e8FOD ma’g{omﬁé DTTO é)z,ﬁﬁeédg{ SDR.
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h) What do you mean by internal economics of scale ?
BOBOF Q0B33, 030MTD DOTTERD 7

) State any two features of production function.
YUTOTTD FTOIOF T3 QAR TIVTTR T rbea@i sarf@i:g{ DR,

J) What are the exceptions to the law of supply ?
3PTE QODIVT LTTNE S92,

k) Give the meaning of market demand schedule.
a’mdﬁ&i 23eE3% w%m e:at;ﬁrdﬁ.zt SO

l) What is meant by supply ?
TPT B 20TBe0 9

SECTION -B

Answer any five of the following. Each question carries 5 marks. (6x5=25)
CIRYTRTTR DT TN LUZ0R. 303D BIRE L08R,

2. Explain the role of a business economist.
09, DHTOOT eﬁcﬁrm@ o @ mgdﬁi IO,

3. Write a note on consumer surplus with diagram.
I023ReNCI) 20T chileve 7} 20T w@m@i Cesds WSTRODN Q0.

4. State the law of demand. Indicate the exceptions to law of demand.
23e83T LOITO DOWTED ? 238 NI wﬁmcﬁn’%% SDR.

5. Give the meaning of External economies and explain its forms.
WIRFR, TR, 00T @@rd&; 392 WY VW0 ,'-«J;draau"h’%fﬁg{ 233F .

6. What are the determinants of supply ?
ajp%éodﬁ;{ DT ORI LLODNTOR)T) 9
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7. From the following information, determine the nature of price elasticity of demand
by using total outlay method.

39N BORPoT v3ES wIeiE AIAWTTS, T &, TATIR wid) :e3 THS0DY, TomOLRCID,

Situation Price Per Unit (in ) ‘Quantity Dem;nded (in “Lrnits)
Sletatal WS T8 PUFY, (S, N¥Q) ) 30 RF TTIe (PWENTD)
| 12 - 500
I 10 650
| 08 900
12 ) -;ii; -
Il 10 600
08 750
12 o 500 -
H 10 525
08 | 025

8. From the data give below, calculate FC, VC, AVC, AFC, AC and MC.
ZYND OWONS FTH/O0I0D0T E\é)dﬁzgj 2 TICOMO dz;’d  RTORD WM dz'?’d Bstonyste ,?%ddzs; ,
TR0 ﬁ?% még 203370030 ﬁ%ﬁ@édg{ FOTRIEERC0.

NTITE (FUENTD ) o : 5 . t4 | . 5
Output (in units)
i, S, (5. 99 ) 300 | 400 | 480 | 540 | 620 | 800 | 1020
Total Cost (in )
SECTION-C

Answerany three of the following. Each question carries 15 marks. (3x15=45)

O3 TRTTR TR TINETT YUSOR. B303ROTO TIN 15 TN,

9. Explain the properties of indifference curve.
TSTIRAET, BTEONY OT m@s% DO,

10. What is elasticity of demand ? Explain the determinants of elasticity of demand.
36838 AGROTES, OTTERD ? 13 ASTTTL, T3 DFTF 0T LOTNFRV WO
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11. Explain how producer will reach the position of equilibrium with the help of
Iso-quants and Iso-cost curves.

;a’abméﬁ NPTY ﬂmd&a Aol viate 303,00 emaawdéab B ﬁdoém@éda’% mmﬁpﬁ
@owdsi TN DTIO.

12. Detine, classify and explain the economies of large scale production.
draai D,TIVNEITT JICRIaRM eve &o@%oﬁarﬁ@ Slataloniatn @cﬁﬁ@aﬁi DO,

13. Fromthe data given below, find the trend values for each year by using the method
of least squares and estimate the annual sales for the year 2015 and 20186.

3T éfaéidad wenlenfatiem 3,063 BOTIOESB a‘b’ae%dsﬁoq ﬁé’bﬁw SIINE E-a"cg’aéo&)ocj
FOTRIEGEBCID doé_g 2015 TN 2016 T [T 20220 meddiéocéoéo@cw&

I

2010 | 2011 | 2012 | 2013 | 2014

.—

Year
DR

Sales (Rs. in lakhs)
»pleptk (oa SR, N&O)

180 | 224 | 312 | 184 | 300

SECTION-D
(Compulsory) (1x10=10)

Compulsoryfor 2011-12 Batch.

Answer the following question. It carries 10 marks.
53 TN @é@b@ VSOR. BOIRT m§d§1 0 203N - STECTINTOI T,

14. Briefly explain the scope of Business Economics.
d%dméé @C‘drma;d @S@mo—g ﬁoﬁmﬁ DR,
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